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Instructions

1. This question paper has 5 Sections A,
2. Section A has 20 Multiple Choice Questions '
3. Section B has 5 Short Answer-| (SA-l) Type Questlo‘
4 Section C has 6 Short Answer-Il (SA-Il) TYPe Question= =
5. Section D has 4 Long Answer (LA) Type Questions,carryln

3 ment (4
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‘ Sectioﬁ-A
T Section A consists of 20 questions of 1 mark each
1. If HCF of 306 and 657 is 9, then the LCM is
o 2)19428 S ez (c) 20338 (d) None of these

Pto hest;ltﬁ!é%'s: ;



: ()5 (d) None of these
(b) 1z

(a) VAL
an AP is -7 and the common difference is 5. Its 18th term is

‘ first term ©
(7');';3 & (b) 92 (c) 83 (d) 78
a

C is the mid-point of PQ, if P is (4, x), C is (y, -1) and Q is (-2, 4), then x and y

respectively are .
(@) - 6ad 1 ’ | (b) -6 and 2 (c) 6 and -1

0.25 m. The number of approximate '
, is A

will b




' 16. The mean of the following distribution is

12 14 18 2o
3 5 8 v W
19!
&)1l (b) 18 (c) 16.95 (d) 15.24
17. A fair dice is rolled. Probability of getting a number greater tharn S i

(a) 0 (b) 3

@F

18. If 2 cos 38 = /3, then the value of 8 is

(a) 60° ) 30" (c) 10° (d) 15°

Directions In the question number 19 and 20, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the correct option.

19. Assertion (A) A coin is tossed 30 times and head appears 20 times. Then, the probability
of getting a tail is % :

Reason (R) Probability of happening of an event =

Number of trials in which the event
happened / Total number of trials.
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A)
(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation
of Assertion (A) ,
(c) Assertion (A) is true but Reason (R) is false
(d) Assertion (A) is false but Reason (R) is true 8t

20. Assertion (A) If S, is the sum of the

terms of an AP, then |tsntﬁ‘¥term is given by
an = Sp - Sn1.
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What is the probability that it will land inside the circle of diameter 2m

22 Prove that (1 + tan? 8)(1 + sin g)(1-sin6) =1
Or

2 30° + xsin? 60° - % tanz 30° = 10.

Determine the value of X, such that 2 cose

~ 23. If the 3rd and gth terms of an AP are 4 and - 8 respectively, which term of this AP is zero?

=

nct real roots, then find the value of p.

uation x2 - 3x + p = 0 has disti

le of 60° are drawn to a circle of radius 5 cm, then find

estions of 3 marks each

ape of a sector of a circle of radius 80 m
made as shown in the figure.



30. In the given figu . ' _
that PP' = QQ'. gure, PP' and QQ' are the two common tangents of the tWe circles. Show

31. Solve for x, 2 2::'33) -25 (x—3) = )b

2x+3

Section-D
Section D consists of 4 questions of 5 marks each

32. Atent is in the form of a cylinder on which a cone is surmounted. If h(:,_ig;\tt:;\i :ﬁameter of
cylindrical portion are 2.1 m and 4 m and slant height of coné IS 2.8 m, 1in ea of used

canvas in making this tent. Also, find the volume of air within tent. £6- €1
~3-a42

 33.Froma point, 36 m above the surface of a lake, the angle of elevation of a bird is observed
to be 30° and angle of depression of its image in the water Is observed to be 60°. Find the

actual height of the bird above the surface of the lake. %5

34. The following table shows the age distribution of cases of a certain disease admitted during
a year in a particular hospital.

Age (in years) SRR {5=048 D5-34 (35 -44 45 - 54 55-64}"0&’4{
0

a

Number of cases (5% A 21 23 14 52 (3

Find the modal age.
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